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(1) AKFg (F32H) GHETABI)
N 10a%47=9 = | 1Ed N 102 27-b o = | TR
ha kg t ha kg t
S FTTAEFE
= 1, 469, 000 528 7,762,000 99 BoYRET 2, 290 648 14, 800
W it 382, 000 586 2,239,000 104 B 5320 iy 33 573 189
H i 45, 000 627 282,200 106 t F oy 1, 790 568 10, 200
A Ex 50, 500 554 279,800 103
=4 K 68, 400 551 376,900 102 NOF BT 808 602 4, 860
K 5] 87, 800 600 526,800 104 B T 158 564 891
(L & 64, 500 627 404,400 105 wodb my 1, 260 582 7, 330
& = 65, 800 560 368,500 102 N AT 46 540 248
B EHy 568 562 3,190
SN 2 HEPE
4 1, 462, 000 531 7,763,000 99 XK O OHET 4 395 16
W it 381, 500 586 2,236,000 104 WOl fF 119 479 570
H F 45, 200 628 283,900 105 J&L [ 7 A 3 332 10
) + 50, 400 553 278,700 103 = H Kt 5 410 21
= Ik 68, 300 552 377,000 102 = 7 516 583 3,010
K 5] 87, 600 602 527,400 105
1] Vi 64, 700 622 402, 400 104 E = ) 898 599 5, 380
& = 65, 300 562 367,000 102 m 393 559 2, 200
M OEs M 666 581 3, 870
AN 2 4EpE Pl HT 72 532 383
VER R Hu s 31| O K 234 568 1, 330
T OV A3
(F#%) C&F)
& H 5, 200 613 31,900 105 A6 1 B3k 12, 600 574 72,300 103
A i 27, 500 651 179,100 105 b L) ik 34, 400 549 188,700 102
mEED - AL 12, 500 583 72,900 105 H gl 1, 220 507 6,180 104
it 3 2,230 521 11,600 104
H & oM 3, 830 618 23, 700
2L B T 3, 030 630 19, 100 - i 2,630 586 15, 400
N BT 1, 050 587 6, 160 woh oW 268 508 1, 360
B o 1, 270 623 7,910 K E T 103 499 514
E G 4,990 675 33, 700 it & 7, 660 564 43,200
it 4,940 558 27,600
+Fn H T 3, 590 596 21, 400
= R i 240 561 1, 350 ) 279 508 1, 420
I o ™ 70 456 319 = % o 1, 790 546 9,770
SN AT 7,810 680 53, 100 — B T 5, 840 517 30,200
SEOJI T 1, 860 628 11, 700 W iy v F T 303 514 1, 560
% 52 512 266
SN T 488 596 2,910
A Bl ET 120 592 710 = ) 866 535 4, 630
% H A 602 614 3, 700 J\ 1% ST 2,330 583 13,600
& o Y WY 162 559 906 BN T 10, 300 558 57,500
B 2 JR T 733 621 4, 550 WOR oW 732 578 4, 230
E o4 0y 2, 090 574 12,000
o ET 354 580 2, 050
7 H B 92 593 546 & AT 39 511 199
B IRy T 1, 350 614 8, 290 = PR O 539 560 3, 020
JC fEomT 184 584 1, 080 T 2, 660 569 15,100
M 2 g 4 916 626 5, 730 S iy 1,530 569 8,710
78 Fn & |y 733 529 3, 880
W mT 1, 180 633 7,470
' HoOEy 1, 430 631 9, 020 & /7 g BT 2,410 531 12,800
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(1) AKFg (F3H)  GHETARD  (Brx)
N 8 10a ﬂi/lf:@ =N ﬂz?ﬂ‘ N _ 10 a %f:@ =N ﬁzyﬂ
ha kg t ha kg t
C=== ) moE EHT 3,030 540 16, 400
SR HT 725 519 3, 760 moA HT 1,810 560 10, 100
£ H AT 156 523 816 ¥ H AT 3, 080 562 17, 300
X OkE Wy 80 510 408 )1l HT - - -
i | ET 136 489 665 B = e WY 144 485 698
AR T 104 495 515
(FkH)
M 5 16 478 76 I ik 18, 800 587 110,400 105
wAR K 5 460 23 B 31, 500 602 189,600 104
[ N U 339 518 1, 760 JI=X 57 37, 300 610 227,400 105
s I 52 473 246
uoF N 233 517 1, 200 B om o 5, 330 604 32,200
=R AV V] 4,120 607 25,000
PEOBFOHT 220 493 1, 080 B F H 11, 100 612 68,100
— 7 W7 240 513 1, 230 X g 3, 760 580 21, 800
5o W 2, 500 601 15, 000
(B 30)
53] H 6, 750 528 35,600 102 A N} 3, 660 602 22,000
] b 12, 700 536 68,100 102 BE A 2, 200 572 12,600
it b 40, 600 559 227,100 102 F I A S T 6,410 588 37,700
W H 8, 260 557 46,000 103 B Ok W 2, 380 606 14, 400
K oAL T 12, 700 617 78,400
il & T 2,900 535 15, 500
VAN - S ] 5, 900 566 33,400 b & m i 3,270 566 18,500
WO h X X X I~ 2 E T 1, 960 584 11, 400
Al A T 501 486 2,430 filt 4k T 3,110 583 18, 100
H A 998 523 5, 220 /N ET 246 553 1, 360
L NBT R 305 554 1, 690
% HoTh 1, 640 543 8,910
f W 2, 340 544 12,700 BEOHEHT 433 574 2,490
EZ-% il 242 540 1,310 = fE HT 3, 350 604 20,200
= W\ 1, 080 545 5, 890 AN iy 1, 150 600 6, 900
- ] 11, 000 577 63,500 BN A=l 1,130 586 6, 620
J\ BB 98 my 643 605 3, 890
EOE M 9, 870 544 53,700
W E R 1,710 553 9, 460 H I HT 948 598 5, 670
KW 10, 300 564 58,100 X B K 10, 200 614 62,300
B oA om 341 531 1,810 ESE (S 4, 360 613 26,700
HOFE T 581 521 3, 030 Po% T 2,230 603 13,400
WOpk W AT 183 556 1,020
£ » f5 BT 99 505 500
RN 266 546 1, 450 (1)
A | T 488 524 2, 560 At il 14, 600 635 92,700 104
£ H ET 552 536 2,960 5 S 10, 100 582 58,800 102
) T 655 503 3, 290 & 5 13, 200 621 82,000 103
£ W 26, 800 629 168,700 105
AR OAT 771 498 3, 840
B O OET 1, 760 539 9, 490 1T A 2, 460 667 16, 400
oo H7 768 539 4,140 ) 2,400 612 14, 700
75 T 568 535 3,040 v I 11, 000 618 68, 000
£ oy AT 87 477 415 L & NS 7,610 648 49, 300
ooE H 3, 370 588 19, 800
FlOFF HT 195 534 1, 040
X Fno HT 1, 430 521 7, 450 3] T T 1, 020 643 6, 560
KR ET 1,110 530 5, 880 o 733 644 4,720
b T 605 531 3,210 Koo 1, 900 628 11, 900
o FF T 1, 520 545 8, 280 E J 1, 760 638 11,200




9 B 313

(1) AKFg (F3H)  GHETARD  (Brx)
N 10a M:[lftb =N ﬂz?ﬂ‘ N 10 a %f:@ =N ﬁzyﬂ
ha kg t ha kg t
(LEke ) I = ET 182 482 877
K ® 1, 150 668 7, 680 K £ K 902 567 5,110
ORI 1, 040 633 6, 580 B o W7 814 549 4, 470
B AR 2,690 604 16, 200 FNEE: 821 538 4, 420
ER ] 1, 190 629 7,490 4% HT 399 544 2,170
AN VA R 364 635 2,310
T Bz s A - - -
oo HT 415 678 2,810 R HT 390 557 2,170
w4k ET 994 654 6, 500 M 2y HE T 980 559 5, 480
oI ET 168 556 934 b IR R 199 606 1,210
11 S 357 597 2,130 v & T 612 542 3, 320
Koy ET 303 594 1, 800
2k HT 401 605 2,430
KA W AT 1,010 607 6, 130 ¥ w A% HT 2,190 626 13,700
4l W7 1, 050 579 6, 080 L R T 2, 600 617 16,000
B bk HT 1, 200 559 6,710 M-I s 966 626 6, 050
L) 869 599 5,210 oI T 286 576 1, 650
H I ET 1, 030 577 5, 940
= B m 41 521 214
K OEE K 503 589 2,960 4 U HT 108 543 586
i )1l A 1, 160 594 6, 890 B A 166 570 946
7Rk 896 586 5, 250 SEEEHENT 2, 840 618 17, 600
=] 2,120 617 13,100 [ ) 862 552 4, 760
JIl v§  HT 3,090 644 19, 900
Rl AT 692 558 3, 860
7N T 485 534 2, 590 =S 518 583 3, 020
H & 846 581 4,920 - KOMROHT 1, 300 566 7, 360
iy & T 1, 260 642 8,090 - /I = 1 870 539 4, 690
= Il W 1,710 637 10,900 - KO HT 287 488 1, 400
N T 4, 440 624 27,700
75 iy 587 486 2, 850
WE e W7 2,070 628 13,000 s )1l AT 236 481 1, 140
o ET 788 522 4,110
(& 5) E )| K 442 520 2,300
@ b 35, 300 541 191,000 102 Sl A 462 525 2,430
@ v 7,590 531 40,300 103
& H 22, 400 606 135,700 102 &) mT 512 537 2, 750
o B HT 222 502 1,110
B & 1, 760 510 8, 980 = K 330 533 1, 760
LI 4, 740 613 29, 100 /NOBOHT 473 517 2, 450
Ao 7,960 556 44, 300 BT 122 530 647
Wb & 3, 690 531 19, 600
= I T 7] 3, 440 547 18,800 o OHEOHT 168 498 837
w M W 24 504 121
EE ) 4, 790 549 26, 300 JII Wk 100 531 531
=% 5 5, 520 600 33,100 K R HT X X X
HoE W 1, 620 533 8, 640 W OBEHT - - -
N/ N 7] 1, 790 519 9,290 -
H A T 1, 370 508 6,960  --- BT ET 82 567 465
= OB & 23 496 114
[N 1,130 536 6,060 .- o HT 578 526 3, 040
o oE 985 508 5,000 - R fE A 50 440 220
Y NI 1, 190 564 6,710 .-
Z v BT 361 525 1, 900
R W7 358 529 1, 890
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(2)  KFROPHF

X £ 3 =
X 4 w &= H = 5 S

wEm M| K F B | E@mME| K E B | #ERE K E E
ha t ha t ha t

S FTTAEFE
4 =] 80, 600 12, 400 1, 185, 000 237, 600 699, 200 94, 100
W ik 6, 440 586 333, 400 42,900 207, 500 19, 600
H e - - - - 14, 100 5, 430
e + - - 50, 500 9, 200 3,570 162
=1 Ik 1, 240 106 68, 400 15, 500 48, 200 2, 650
K i - - 87, 800 7, 600 24, 500 3, 000
(L & - - 60, 900 5, 320 51, 300 3, 170
& = 5, 200 480 65, 800 5, 300 65, 800 5, 200

SN 2 AEPE
S S| 47, 000 8, 720 1, 235, 000 238, 100 568, 400 63, 200
W it 2,950 1,710 381, 500 48, 200 112, 100 4,970
H R 1, 630 1, 500 45, 200 3, 000 1,210 178
e + 316 67 50, 400 7,610 4, 600 266
=1 Ik - - 68, 300 14, 800 5, 800 238
73 a3 - - 87, 600 7, 550 13, 300 561
1] 7 - - 64, 700 4, 780 44, 000 2,120
& = 1, 000 140 65, 300 10, 500 43, 200 1,610

9 s [iF) e
% 4 B ) 5 ] v > 71 il A A D%

eEm M| K F R | #EmME| K E R | #EFERE| K E E
ha t ha t ha t

S FTTAEE
4 5] 239, 500 55, 900 110, 600 40, 600 143, 100 17, 600
R it 49, 200 8, 810 2, 890 160 33, 200 3,210
H s 975 65 570 34 8, 780 1, 180
Ve + 5, 150 880 29 2 1, 430 121
=1 Ik 8, 000 1, 750 60 2 3,610 379
X M 20, 000 2, 590 303 9 9,210 597
1] Vi 9, 700 2, 680 1, 410 81 5, 800 530
& = 5, 340 845 520 32 4, 380 400

SN 2 HEPE
S =] 294, 200 78, 200 128, 400 70, 600 140, 700 17, 000
H ik 92, 900 27, 600 1, 820 86 34, 900 3, 820
H Fox 3, 580 1, 370 650 32 5, 580 1, 220
= + 14, 400 5,470 70 3 3, 750 650
=4 Ik 10, 200 2, 450 70 2 5,270 600
K a3 31, 600 8,710 300 3 6, 690 340
(L A 17, 400 5,190 410 20 5, 940 436
& = 15, 700 4, 370 320 26 7,700 570




